
 PARTS ORDER FORM 

Qty Item Description Price

Sport - Elbow Fitting Folding Elbow Joint..F125FL $7.72

Sport - End Cap Foot Cap - PVC End Cap 1.25" ..F125C $3.87

Sport - Foam Connector Foam Connector Piece $24.00/dz

Sport - Lock Nut Nylon Insert Lock nut - Hex 1/4-20 Zinc $0.34

Sport - Mach. Screw Machine Screw 1/4-20x2.5" Pan Phillips..2520X2000PNPHSSPS $0.44

Sport - Part A Rail for SportPanel Plus (specify top (choose: yellow or white) or bottom) $25.32

Sport - Part B Upright for SportPanel Plus - (Specify Side or Center Post) $18.88

Sport - Part C Foot for SportPanel Plus $8.92

Sport - Part Yellow Rail Yellow Top Safety Rail for SportPanel Plus $31.16

Sport - PVC Rod PVC Rod, 1.625 OD, Gray - 0.2 used per foot mechanism $29.17

Sport - Rivet Rivet for SportPanel - AD410BS $0.17

Sport - Self-Tap Self Tapping Screw #8 x 3/4 $0.17

Sport - Slip Tee Foot Slip Tee - PVC 1.25" TL $6.01

Sport - Slip Tee SL Center Slip Tee - PVC 1.25" TLSL (Looser) for uprights..F125TLSL $6.01

Sport - Tee Top Corner Tee - PVC Tee - 1.25" (Available) for Top Rail..F125 $6.01

Sport - Tee2 Bottom Corner Tee - PVC Tee - 1.25" (Lasco) for Bottom Rail..401-012 SCH40 $6.01

S 1/Sport - Washer 1/4 1/1/4 Flat Washer - Zinc $0.17

Sport - Wicket Anchoring Wicket - U-Shaped Wicket - 1.75" Opening - 6" L $19.00/ dz

Sport - Complete Mesh Grid Complete Mesh Grid Section-1 section mesh grid for SportPanel-White $43.76

Sport - Foot Complete Foot Assembly for SportPanel Standard w/Lasco $30.62

Sport - Foot2 Complete Foot Assembly for SportPanel w/TechnoTip $30.62

Sport - Rotating Foot Mechanism  Rotating Foot Mechanism - including Gray PVC rod, machine screw, washer, and lock nut $11.75

Sport - Screw Washer & Nut Screw, washer & nut for folding joint for foot $2.57

TOTAL*

* Applicable Shipping & Taxes (in NY state only) will be added to your total

Company Name:

Ship To:

Bill To (If different):

Tel:

Fax:

Email:

Discount Fence Supply
Fax: (330) 650-9004

Toll Free: (800) 878-7829
Email: sales@discountfence.com



SportPanel Diagram 

Foam Connector
Part# 103472

Part A – Optional yellow
Part# 102560 - White
Part# 102566 - Yellow

Part B 

Part# 102544 - Side 
Part# 102543 - Center

Foot / Standard
Part# 102556

Anchoring Wicket
Part# 102578

Mesh Grid Section
Part# 102565 - White
Part# 102564 - Black

Center Slip Tee
Part# 102574

Top Corner Tee
Part# 102575

Foot w/ TechnoTip
Part# 102557



SKU Product Part Description Product Part Picture

Sport - Elbow Fitting (NY) Folding Elbow Joint

Sport - End Cap (NY) Foot Cap - PVC End Cap 1.25" 

Sport - Foam Connector 

(NY)
Foam Connector Piece..6" Long

Sport - Lock Nut (NY) Nylon Insert Lock nut - Hex 1/4-20 Zinc

Sport - Mach. Screw (NY) Machine Screw 1/4-20x2.5" Pan Phillips

Sport - Part A (NY)

1.25" 35# x 119.5" Co-Ex Pipe (White) Rail for 

SportPanel Plus (Specify top (yellow or white) or 

bottom)

Sport - Part Yellow Rail 

(NY)

Co-Ex 119.5" Yellow 1.66OD 35# - Yellow Top Safety 

Rail for SportPanel Plus

Sport - Part B (NY)
1.25" 35# x 37.75"  White Co-Ex Pipe, Upright for 

SportPanel Plus (Specify Side or Center Post)

Sport - Part C (NY)
1.25" x 29" white Co-Ex Pipe - Foot for SportPanel 

Plus

SportPanel



Sport - PVC Rod (NY)

PVC Rod, 1.625 OD, Gray - 0.2 used per foot 

mechanism- There are two pieces per foot and two 

feet per fence (4 pcs @ 1.25” each for a total of 5” 

Sport - Self-Tap (NY) Self Tapping Screw #8 x 3/4

Sport - Slip Tee (NY) PVC Slip Tee 1.25" TL Foot Slip Tee - PVC 1.25" TL

Sport - Slip Tee SL (NY) Center Slip Tee - PVC 1.25" TLSL (Looser) for uprights.

Sport - Tee (NY)
Top Corner Tee - PVC Tee - 1.25" (Available) for Top 

Rail.

Sport - Tee2 (NY)
Bottom Corner Tee - PVC Tee - 1.25" (Lasco) for 

Bottom Rail.

Sport - Washer 1/4 (NY) 1/4 Flat Washer - Zinc

Sport - Wicket (NY)
Anchoring Wicket - U-Shaped Wicket - 1.75" Opening - 

6" L 

Sport Complete Mesh 

Grid
Complete Mesh Grid Section

Assembled Technotip*
No SKU available. Assembled technotip part. Picture 

for reference



Standard Foot 

Connection*

No SKU. Assembled SportPanel Standard Foot. 

Picture for reference 


	Dealer SportPanel Parts Order Form
	Sport- Dealer

	Exploded Diagram - SportPanel
	Product Manual - SportPanel



